There are 3 main ways to solve a math problem like these. E.g
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Method one “butterfly method”

You cross multiply x and 5 on one side of the equal sign and 6 and 20
X *6 = 20 * 5

6x = 100

6x/6 = 100/6

X=16.666666666666666 …etc
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Method two “multiply by reciprocal” 

You move x to the middle next to the fraction bar and replace the top number on the left fraction with 1.
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Now multiply the left side by 20 over  1, (the reciprocal,) then cross cancel. Now do the same to the other side, then simplify.
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6*4 =24 (24 over one is the same as 24) 
Thus,

X = 24

Method 3. “backwards Z”
This does not work all the time

In this case, it does work. 5 goes into 20 4 times. 4 times 6 equal 24
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If you have a problem like this:


You can only use method 1.
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